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1 100kN/m#%#kBZ % — -~ — —|3mEBZE| — ~ — — | 100kN/mM%#8Z 5 — - ~ — — |3mFBZD -~ — — —
Zh s 1.00 | 000 ~ 4.72 5888 | Thds | 0oo ~ 472 1.80 9.66 Zh s 1.00 | 5.00 ~ 5.00 58.88 | =nLS | 5,00 ~ 5.00| 1.80 9.66
2 100kN/m#%#kBZ % — -~ — —|3mEBZE| — ~ — — — | 100kN/ %8 x5 — - ~ — — |3mFBZD -~ — — —
ZTh s 100|000 ~ 577 72.10 | ThES | 000 ~ 577| 1.87 10.03 ZhLlst 100|500 ~ 670 7210 | =hs 500 ~ 6.70 | 1.87 10.03
3 100kN/m%i#BZ2%| 100|000 ~ 087 11295 |3mEBZZ| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 1088 ~ 1380 112.95 |3mE#BZ% -~ — — —
ZTh s 1.00 | 087 ~ 865 100.00 | =hs5t | 000 ~ 865|207 11.06 Zh s 1.00 | 5.00 ~ 1088 100.00 | =ndS | 5,00 ~ 1380 2.07 11.06
4 100kN/m#%§EZ5| 1.00| 000 ~ 164 125.05 |3m%EFBZB| — ~ — — — | 100kN/mMZ#825 | 1.00 | 11.56 ~ 2014 | 125.05 |3m&E#BZ% -~ — — —
Zh s 1.00 | 1.64 ~ 9.42 100.00 | =n5 | 000 ~ 942|247 13.22 Zh s 1.00 | 5.00 ~ 1156 100.00 | =ndS | 5,00 ~ 2014 2.47 13.22
5 100kN/m%i#BZ2%| 100|000 ~ 247| 13870 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 10.76 ~ 2378 138.70 |3mZE#Bz% -~ — — —
Zh s 1.00 | 247 ~ 1026 100.00 | =nLs5 | 000 ~ 1026 2.58 13.83 Zh s 1.00 | 5.00 ~ 1076 100.00 | =hH | 5.00 ~ 2378| 2.68 13.83
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#kBZ % ~ ImEEZD ~
ZhLlst ~ Zzh st ~ ZhLlst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
ThLlst ~ Zh st ~ ZhLlst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#BZ % ~ ImEEZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
ThLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEEZD ~
ThLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#BZ % ~ ImEEZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEEZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#kBZ % ~ ImEEZD ~
ThLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEEZD ~
Th st ~ Zhs ~ Th st ~ Zhs ~




